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TABULKA VII 
Tenze nasycených par [79KUB],[84ALC] (data pro As4 [75RAU]) 

 
log po(Pa) = A + B/T + C.log T 

Látka 
A B C 

Obor teplot 
(K) 

Al(l) 10,917 -16211  930 - 1800 

As4(s) 13,527 -7591,5  720 - 1100 

As4(l) 8,702 -2332,2  1050 - 1400 

AsCl3(l) 26,885 -2660 -5,83 260 - 410 

As4O6(s) 13,035 -5282  370 - 580 

Ca(l) 15,694 -9103 -1,71 1110 - 1780 

CaF2(s1) 29,535 -23600 -4,525 298 - 1430 

CaF2(s2) 29,355 -23350 -4,525 1420 - 1700 

CaF2(l) 28,435 -21800  1690 - 2790 

Cd(hcp) 10,945 -5799  298 - 600 

Cd(l) 10,248 -5392  580 - 650 

Fe(CO)5(l) 10,545 -2075  298 - 390 

Ga(l) 11,760 -13984 -0,3413 300 - 1600 

GaCl3(l) 31,265 -4886 -6,44 298 - 580 

Hg(l) 10,122 -3190  298 - 400 

I(s) 18,386 -3518 -2,02 298 - 390 

In(l) 10,380 -12276  430 - 1500 

Na(l) 13,406 -5634 -1,1748 370 - 800 

Ni(CO)4(l) 9,855 -1530  298 - 340 

Pb(l) 9,917 -9701  600 - 1200 

Sb4O6(cub) 14,320 -10360  740 - 840 

Sb4O6(ort) 13,437 -9625  740 - 920 

Sb4O6(l) 7,262 -3900  929 - 1073 

Si(l) 12,905 -20900 -0,565 1680 - 3550 

SiCl4(l) 9,765 -1572  270 - 340 

Sn(s) 11,042 -15710  298 - 510 

Sn(l) 10,268 -15332  500 - 1850 

TiCl4(l) 27,254 -2919 -5,788 298 - 410 
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log po(Pa) = A + B/T + C.log T 
Látka 

A B C 
Obor teplot 

(K) 

Zn(s) 11,108 -6776  298 - 700 

Zn(l) 10,384 -6286  690 - 750 
 


